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=== Laser O -—
Entries: 65355
Mean: 00X50 +- 0.00d49
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Mean: 00198 + - 0,080
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=== Laser O -—
Eniries: 6535
Mean: 0L01T7T «- 0.0015
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=== Laser OFF ---
Enlries: 2665
Mean: 00178 +- 0.0025
Sid Dey: 001258 +~ 00078
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=== Laser ON -—
Entries: 6535
Mean: -0.0068 «- 0L004T
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=== Laser OFF ---
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Tjotane 4

N

&0

500

400

A

200

100

A

280

200

180

100

S

&0

500

40

el KA

2040

100

Run 5518 quartetwise, Asyms LIShg2
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Mean: 00228 +- 0.0035
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Run 5518 quartetwize, Asyms DShg2
=== Laser O -—-
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== Laser OFF ---
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Mean: 00171 +- Q.0022
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=

13

sarmi

an

28

20

18

e

=

Bem

140

130

100

Hir

ik

4

20

Run 5518 quartetwise, posH4 vs time

=



pbskd

dili4

asymEsu

Run 5518 guartetwize, posH4 vs time Run 5518 guartetwize, negH4 vs time

[
|-
U'lr\-
[
-
I?lr\-

a0 f— _ Z [
— e : g &b — S ey [ I me sl
— m = — m ﬁ m m
40— -\.-r i . | i H -
- ol { = ; F % g
— L — '
A an —
20— an E—
e [ in —
|'_'| [ 1 1 * I 1 1 Iq 1 1 1 H 1 1 I F 1 1 I 1 “ I 1 1 |'_'| [ 1 1 # I 1 1 I“ 1 1 1 H 1 1 I F 1 1 I 1 Wi
a 2000 4000 GOOD HOOD 10060 12000 a 2000 2000 GO0 AOOD 10000
Entry%
Run 5518 guartetwize, summdd vs time
%10
T WF—
E [ N . . al .
o i 3 f E j
& —
40—
20—
L L |:| [ L L w I L L IH L L L H L L I F L L I L wi
a 2000 4000 GOOE AOOD 10000
Entry§
Run 5518 quartetwise, posH4 vs time
— E [
EI:'_— : 141:':—
o= 120
L - 100 —
20 — —
- o0 -
40— -
- Gl —
&0 — —
| 4[:'_—
a0 — . _ . _ zn-:—
: 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 |:| [ 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1
a 2000 4000 GOOE HOOD 10060 12000 a 2000 4000 GLOD AL 10000

Entry§



Sty

DEhgT

werlFng

&0

500

400

A

20

Run 5518 guartetwize, USbg1

wa tima

jac]

000

2500

2000

1500

1000

500

jac]

&0

500

400

A

200

2001

Entry§

fac]

USng2

DEhg2

herizFing

a0a

&0

B kA

&0

500

400

A

200

100

=

2500

000

2800

2000

1500

1000

500

Run 5518 guartetwize, USbg2 ve time

=
5]
=
=

1000

A0

&0

400

2040

4000



